BleRkE | AR (B2 ot E|RAkE | RAE|RE| LT
1 102 1000x2£20%
2 221 2200x2£20%
3 332 3300x2]+20%
4 472 4700x2£20%
5 682 6800x2|£20%
6 103 10000x2|£20%
AT pF

2) BEAE: 200V,
3) BEER: 154
4) BB Ri>1x10°Q, JKEEA200V,,
5)WEE: Ur=500Vy, £&HFH WAL
BEEE: 3
tg § <3.5%
X7R . Y5V
[B]:25/85/21

6) MM
7) A4
8) BEXA:
2. W
7 M6 x 0. TS84, RAFENLE;
4% REERAANE;
WM BEA 235£3C, HEKSsec, HAEGERISWIUL;
iEEs: BEN 260£5C, BERERE10+ 1sec,
AR ABEEFAER
5) EHWERE: RERZE;
6) 4 (ROHSEARE) .
3. FRFA
BT H:

[C]:40/100/21
)
)
)
)

1
2
3
4

[X]P200
[2ARA]

Q1.

15 2
6.5 1.2 =
S
=
S ——=E=
16,541
35

8
[ 33 4% % i i
BRERE | LP02-200-[EARE] [BE£5]
BhFE 5 2 BE (XfF%)
J1-LP02-200-001 [z51| #zza S1-LP02-200-001
£33 9 /ELEMJ LEE T %t)ﬁ 1
BkER £7 1
Fifsl ROHS  [—— 1 30m|Hf| 3:1
fipakid | RR2 &
53 B ¥ B
BRI, RE | HE[#4 AN V&R 2013.02.22



Administrator
已审阅


